

## Gaussian Zipping

March 3, 2019 6:38 AM

Let  $F_\lambda = e^{\lambda \partial_y \partial_z} e^{qz} = e^{qz}$ . Then  $F_0 = e^{qz}$  and

$$\partial_\lambda F_\lambda = \partial_\lambda e^{\lambda \partial_y \partial_z} e^{qz} = \partial_y \partial_z F$$

Also,

$$\begin{aligned} \partial_\lambda F_\lambda &= e^{\lambda \partial_y \partial_z} \partial_y \partial_z e^{qz} = \\ &= e^{\lambda \partial_y \partial_z} \partial_y (q e^{qz}) = \\ &= e^{\lambda \partial_y \partial_z} (q + q^2 z) e^{qz} \end{aligned}$$

claim sol'n is

$$F_\lambda = \frac{1}{1-\lambda q} e^{\frac{qz}{1-\lambda q}}$$

Proof

$$\partial_y \partial_z F_\lambda = \frac{q}{(1-\lambda q)^2} \partial_y (z) e^{qz/(1-\lambda q)}$$

$$= \frac{q}{(1-\lambda q)^3} ((1-\lambda q) + qz) e^{qz/(1-\lambda q)}$$

$$\partial_\lambda F_\lambda = \frac{q}{(1-\lambda q)^2} e^{qz/(1-\lambda q)} + \frac{q^2 z}{(1-\lambda q)^3} e^{qz/(1-\lambda q)}$$

$$= \frac{q}{(1-\lambda q)^3} ((1-\lambda q) + qz) e^{qz/(1-\lambda q)}$$

Precise:

```

In[1]:= zipq,λ[η_, y_] :=  $\frac{e^{\lambda \eta y / (1-\lambda q)}}{1-\lambda q}$ ;
F[q_, λ_] := Simplify[zipq,λ[qξ + η, qz + y] eqξz + yξ + ηz];
{F[q, λ], F[q, 0], F[q, 1], F[q, 1] /. {z | ξ → 0}} // Simplify
Out[3]=  $\left\{ -\frac{e^{\frac{y\xi + qz\xi + z\eta - y\eta\lambda}{1-q\lambda}}}{-1+q\lambda}, e^{y\xi + qz\xi + z\eta}, -\frac{e^{\frac{y(\xi + \eta) + z(q\xi + \eta)}{-1+q}}}{-1+q}, -\frac{y\eta}{-1+q} \right\}$ 

In[4]:= {lhs = ∂λ F[q, λ], rhs = ∂ξ ∂z F[q, λ], lhs == rhs} // Simplify
Out[4]=  $\left\{ -\frac{e^{\frac{y\xi + qz\xi + z\eta - y\eta\lambda}{1-q\lambda}} (y\eta + q(1 + y\xi + z\eta) + q^2(z\xi - \lambda))}{(-1+q\lambda)^3}, \right.$ 
 $\left. -\frac{e^{\frac{y\xi + qz\xi + z\eta - y\eta\lambda}{1-q\lambda}} (y\eta + q(1 + y\xi + z\eta) + q^2(z\xi - \lambda))}{(-1+q\lambda)^3}, \text{True} \right\}$ 

```